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[ Imperisot :
(i) Answer all questions.

(iii)
(iv)

(i} Write your Index Number in the space provided in the answer sheet.
Instructions are given on the back of the answer sheet. Follow those carefully.
In each of the questions 1 10 60, pick one of the alternatives from (1), (2). (3), (4).
(5) which is correct or most appropriate and mark your response on the answer
sheet with a cross (X) on the number of the correct eption in accordance with the
instructions given on the back of the answer sheet.

1. Which of the substances is found only in animals?
(1) Chitin (2) Glyeogen
(3) Lactose (4) Pecun

IEF Hﬁumnic acid

2 Which one of the following features of cucaryouc cells,
supports the theory of endosymbiotic origin?
(1) Presence of a phospholipid cell membranc.
{2) Presence of 708 ribosomes in mitochondria.
{3) Presence of DNA in the nucleus.
(4) Presence of a cytoskeleton.
() Occurrence of Kerbs cycle.

3. Whichone of the following molccules on oxidation will yield
the greatest amount of energy for a cell?

(1) Ethanol (2) ATP (3) Glucose
{4) Sucrose (5) ‘P}'ruvic acid
q.-_-_____-_-

% Which one of the following is the best example for geneoc

(*) Thilapia fish of different colour patterns contrbuting 10
fresh warer fisheries in Sri Lanka.

® Shrimps with different growth rates used in aquaculutre
in $ri Lanka,
Sti Lankan wild elephants with and without Itus_li

) Unicellular parasites that cause alaria in oo Lanka. i

5} Edible mushrooms of different sizes and shapes foun
i 8ri Lanka,

5. The five kingdoms of organisms, and the characteristcs
used to group the organisms into these kingdoms, are given
helow:, Which combination is incorrect?

Kingdom Characteristics

(1) Monera [ micellular or muldeellular, prokaryoric,

eells not differendated inro ossues,

Unicellular or multdcellular, eukarvotc,

cells not differenuated into ossues,

Unicellular or mulicellular, eucaryonc.

Multicellnlar, cucarvone, cells differennated

I HSSUES,

Unicellular or mulucellular, cukaryotic,

cells differentiated 1nto dssues when

(% Fungi

(3) Protista
(4) Plancae

{3} Animalia
e

multicellular.

6. Which one of the following fratures is not unique to

Phyllum Fchinodermata?

1) Locomeotion by ube feet.

(2} Presence of ambulacral regions.
(3} Respiration by respiratory trees.
(4) Deuterostomic development.

(5) Presence of water vascular system,

7 Which organism is not found in a marine ecosystem?

(1) Jelly fish (2) Grey mullet
(3) Tilapia (4) Barnacle
(5) Oyster
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_ o regarding phloem, is incory

. f 14, Which staterent 1ts . . b

1 onte of the fullowing does a0t affect the diversity 0 (1) Loading sucrose into sieve tubes is done by Tansfer .'| !
4 Which e in Sri Lanka? using respiratory energy. .

p— ey : _ _ : .
Foibest S (2 Altitude (3) Rainfull (2) Osmosis is oot an important [actor for
! 2

1 Tempsratare ) , |
l “'-mr §) Laptude hloen_sap— pmqu
L9y "-'-E_“" = . . L N
e ; Fophloem sap within siey :
. i - (3) Transport of p ve tubes g
ichi tatement regarding un endemic spee ace i irections ar different g tike
9. Which is the true staic \ b aed over several millions place in bath diree E nt times,
(1) Tuis a speccs that has not chang (4) Sieve tube elements contin cytoplasm bug o
of yeass. _ \ (5) Phloem also EANSpOrts amino acidls, growh Subg
() It is a species that will nox 4 and chemicals applied to plangs,

i addition 1o
evolutionary changes. _ . - be world
fj}]ri“gp:f:icscunﬁiml to 4 certain region of the wortd, e,

T T is a species that Fras o very high threat of extincuon.

% 3 IR (4 fllllEi.'
| Al re [ {_'L'I“:II S0 O '[].'IIT.! -:cn.:..u.ru. E . .
LF'} Its rernoval will result in th P 0 - B Mt il

(2) In sexual reproducnion « i Aspergrllus, fusion of
rakes place in ascogonium,

¢ subjected to further

15. Which statement 15 incorrect reparding reproducs it

10, Which of the folloawing 15 not caused by changes ol warer

=

K | |
]:snl. i § K- by reot cells {31 An ascus usuallv produces eight haploid Spiores,
)] o o ' 5. } .
I['I’} ilﬂ:.r?: it plant lea es n dry days (4) Agaricns does nor produce sexval organs,
2 Wilang « 1 s : ! aoe N
f i i 1 M mi are heterothalli
(3) Sleep-movements of legume leaves in the evening (5} Most fungi are hetero C

@) Opening of stamarta in the morning;

: : 16, Which of the fallowing statements of comparison be i
(5) Transpiration through the curicle of leaves, p

LrOpic  MOverments and nasoc mewements of leu‘ 5

. - ; incorrect?
11, Which of the following tpes of cells is usually not tound s . . .
* ’; (1) T PIC MOVEIMents volve a part ot u plane, whﬂ!m
m Pﬂﬂ}.’ﬂ.ﬂ-' roobs Uf P!ﬁﬂn"- P ! 1 :
M i gl mevements invole the whaole plant,
) Merisrama 5 ) e . ) )
(2} Colienchyma cells (23 Lo tropic miovemenis, rhe direction of responseis related
"y ) . .
— - o the dhirecniom of stimules, but in nasde mov
{3) Storage paranchyma cells . i : Cments,
(4) Cells with subetised walls there is no sch relationship.
(5) Cells with lignified walls (3) Nastc moverments are mediared  through specialized i
organs while copic tovements are nor.
12 Which  statement of  companson berween  cellular () Both these movenients may be mediated trough
respiration amd phototesparation is incorrect? hormones.
(L} Cellular respiration is 4 useful process  while (3} Nastie neveineniz are mediated through turgor changes
photorespiration is a wasteful process. of cells, while sropic movements are not.
2) In both processes, cacbohvdrate 1s oxidised by O, . . . -
@) Both processes need mitochondria ? 7. Which starement reirardine nurrinon of plants, is incorrect?
:. N _I 1y Defere s eyl LEE D WE— =
(4) Cellular  respiration  occurs i all  planes but . “h““_":} ol allrugen thht!t-_chlﬂ['m]h. _ Tt
phummhplmtjﬂn ocours 1 only some Pl&lllT.R. L=y r‘I'-ij..‘,llL'.:-iIlllll 15 necessury for the  formabon
(3) PGA is an intermediate in bath processes. chlorophyll. .
_" (3) Calcium helps ins muintaining vsmotic balance of cells
13. Which of the following satements of compansons between {4} Sulphur helps in 1l formation of some co-enzymes
=h . . *
photophosphorylation and  oxidarive phosphorylanon s (3} Phosphorous 15 rransported  from older leaves ©
incorrects . VOUnger ones,

(1 Photophosphorylation takes place in chie roplasts while salivi.
2 oxidative phosphorylation rakes place in mitochandria. 18. Select the incorrect surement regarding haman ions
(2) Photophospharylation may be accompanied by release (%) 1tisa mixture of Sy ey anc s e

of 0, while oxidative thphur}rlmi;m is accompanied (2) It contains more than one crizyme.
by the utilisation of € (3) Some nitrogenous waste products are found in it
(3) Photophe wphorylation mr;ull- e acc mpanied by reduction () It aids in speech,
of co-enzymes while oxidative IJh"FPhH.ﬂ'Iminn i {_5‘1__Tt 15 essenual for complete digestion of starch.
" act:hamf:ru:d by oxidation of reduced co-enzymes, _ i
- i s i . A ' . .
(5 Phor i:tl.mct u':n. .M}P a5 an electron accepior, iy, ‘t?l.ehlch one of the following is not a funcdon of connecs
op nspiuljr}lam mocan take place only in the tissue
E:::E:l:;ut; 1 Ilq:];t"v;u::k oxidative phosphorylation can (1) Support (2) Teansport | W
' (4) Starage (5} Immuno-protecaon .
2
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* hich s the incorrect statement regarding g
= 'ﬂﬂﬂ of human tesus? b A transverse
gy Several seminiferous tubules can he yeen ther
Y & niterous !
@) In a somi iferous  tubule, spermar \Ronia
i a P.g:iphemll}:
o Spﬂ'malil.ls are seen attached 1o Sertoli cells
o Leydig cells are scen scatiered in the germinal epitheli
* | - — helium,
Sperms arc scen in the centre of the seminiferous tubule
3], Select the incorrect statement regarding the proximal
mﬂl‘“ﬂd Hlbuh: ot 'Ih(_' hun-l“n n-ﬂl‘.lhr(jnl X
Teis connected to the Bowman’s capsule
@ Its lumen is lined with cuboidal epithelium
@ Itis the site of obligarory reabsorption of water
' @Ir_;ctiv:l}r reabsorbs Na®. i

@ Te secretes K.
22 Select the correct statement reparding human skeletal
muscle fibres.
(1) They are cylindrical, short fibres.
 They are multinucleate.
©) ; never get tangued.
(#) They are interc onnected cells.
@ Their contraction requites autonomic nervous stimulatons,

arc seen

23, Select the incorrect statement regarding nervous systems.
(1) Neurone is the structural unit of the nervous system.
{2 Reflex arc is the functonal unit of the vertebrate nervous

system,
(3) In echinoderms, there 15 a nerve net.
Y se is an anatormical junction berween excitable cells.

* Y Nerve cord in annelids is double, solid and ventral.

24, Which statement is correct, regarding lumber vertebrae of

‘man?
- {1) There are seven lumber vertebrae.

{2) They have two vertebraterial canals.

. are the largest and strongest vertehrac,
{#) Each vertebra minimises forward anc

+%  of the body.

. w'nlﬂf have very long neural spines

[ backward bending

E”ﬁﬂ the correct statement regarding human ADH.

1) It is synthesised in the Pnsteriur piruitary.
] :,ﬁkil a trophic hormone.

Bk facilitates  water reabsotptio

" convoluted tubules and coliecting

n in the proximal
ducts of the kidney:

l. 4} It can increase blood pressure. o
-+~ {3 Excessive release of it, causes diabetes insiptdus.

% hich one of the following is an incorrect

gratement

L human ventilation?
-(i) Itis the mechanical process
g dthﬂ]ungs_

that moves air in, and out

3 ;m diaphragm relaxes d_uﬂﬂﬂlfﬂwg-'

4
[

(3) Under resting conditions, expiranion is a passie pross

(4) Normal vemilation is chythrme and imvoluniare.

(5) Respiratory centre in the medulla oblongata RS
nspiration and stumulates expiranon.

n and

27, Select the correct response regarding human lactatio
mlk,
{1} Oxytocin sumulates milk production.
{2} Pro lactin controls release of malk,
(3) Release of milk starts immediately after birth.
(4} Sodium content of_milk is low,

{3) Milk is rich in glucose.

28, Assume that A, B, Cand D represent dominant alleles of
four independently segregating genes of a plant species and
a b, cand d are their respective recessive alleles, If 2 plant
of genotype AabbCeDd was self pollinated, what will be
the ratio between the numbers of phenotypes to genotypes
among the progeny plants?
123 (2) 38
(4) 8:27 (5) 16:81

(3) 8:3

29. In a plant species, fruits can be either red or yellow. Both
these types can be obrained as pure lines. When two plants
with yellow fruits were crossed, all F, plants produced
red fruits, When I planrs were inbred, F, progeny had
27 plants with red fruits and 21 plants with yellow frurs.
Which of the following statemens is incorrect with regard
to this inherirance?

(1) Colour of fruns could be produced by the interaction
of two genes.

(2) This is an example of epistasis.

(3) Dominant allcles of rwo genes may be necessary to
produce red colour.

(4) All planes with red fruits in F, progeny may be pure lines.

(5) All plants with yellow frwits 1n F, progeny may not be
pure lines.

30, Red-green colour blindness is a rare sex linked character
among people. A woman whose husband is normal, gave
birth to a son who is colour blind. What is the probability
thar their next child will be colour blind#

(1)1 (2 0.73 (3) 0.5

(4) 0.25 (5)0.125

3], Which of the following statements is incorrect?
(1) Most mutatons arc produced at the ume of DNA
replication.
(2) Mutatons arc usually harmful,
(3) Albinism is caused by non-disjuncuon of chromosomes

) Klineefelter's syndrome is caused by ancuploidy.
(5 Some mumtions can be identficd by examining

chromosomes uader the microscope.
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Whach obmﬂ‘ltinnuudebv[)m:tmtcin SH.Wdudlnfmumﬂmmtilwuﬂlymﬂdeicﬂnhz
= mﬂimmm'. > ' size of a virus? _ .
01 Natura Wnﬁm have high reproductive potential. (1) Micrometre 2 "f"m::; (3) Nanometre
ﬂ@bmpopiof populatioas seay unchanged over long (4) Picometre (5) Angs

penods ich in the body fluids of humans can destroy
i i jon show vanauons. 40. Which enzyme
(3) Individuals in 2 population ng members of a bacterial cell walls?

{49) These is much competnon amo 1 Lecidsouss @ Ii_.mlumrq dase
&) Hmfmi:::idmls of a population do aot reproduce. (3) Lysozyme (4) Phospholipase  (5) Amylase

33, Which of the following i1s not an example of an application 41. Colform bactena are wsed as indicator organisms of faecal

gencocally modificd FAnisms? polludgon he_cnuat.
g Production of cn'apﬂ:hnu like sova bean resistant to (1) they arc intestinal pathogens.
weediades ‘ (2) they ferment lactose.

{2 Production of golden rice nch in numents like vitamin A. (3) they are the major mnhabttants in the human intesane,
3) Large scale pmducncm of hepantis B vaccine,using yeast (4) they grow well in culrure media within 48 hours,
cells. ' (5) their major habitats are water and soil.

; thar can uce insecticidal
(L Gnm coton plants prod 42. Which of the following takes place under acrabic conditions?

(5) Extraction of coppes, using Thisbarillus Jerraxidans from (1) Nitrogen fixauon in legume rm:-lr nodudes,
low grade ores (2) Biogas producrion in a .\ludgc_ digesuon system,
(3) Demitnficanon in aguatic envirnnments.
34, Which onc of the following is a non renewable resource? (4) Producnon of hn:ulm‘umu by € '!,-Jeme'.rfm {:ﬂ!ﬂ#ﬂ.ﬂu
(1) Soil (2 Coal (3)Timber (5) Microbial reduction of BOD in atrickling filter system.
{4) Fish %) Fresh water )
43, Which of the following tpes of immunicy develops in a
335. Pomary producavity of the biosphere is highest m person recovenng from an infecuous disease like measles?
(1) wopscal rain forests  {2) occans (3) grasslands (1) Narurally acquired active immunity.
{# agriculural lands  (3) temperare deaducus forests (2) Naturally acquired passive immurmry,
(3) Artficially acquired acuve immurnty.
36. Whach of the following is correct regarding the energy (4) Aruficially acquired passive immunity.
flow in the biospherer {5) Genencally acquired passive immunity.
(1} Energy is cvded m the hiosphere.
(2) Al suzotrophic organisms 1n the biosphere do not use 4. Clasmdinm setanr 15 best described as
solar energy for carbohydrate syathesis. {1} an obhgate anacrobe. (2) a facultative anaerobe.
(3) Approxmatcly HPe of solar encrgy that falls on the (3) an aerotolerant anacrobe.  (4) an obligate acrobe.
bisphere 1s converted into chermucal energy, by plants. (5) a micro-acrophilic organism,
(4} Energy may flow 10 both direcoons berween rwo mrophic
| fevels. 45. A fish commonly reared in aquarnia has rvo filamenrous
£1 {5} The amount of energy fixed in the highest mophic level pehvic hns, This fAsh s
s higher than the encrgy fixed at the lower rophic level (1) a guppy. (2) a carp. (3) a gouramy.
(4) a sword tal. (5) an angel fish,
37. Which one of the followang, forms the basis of classificanon
of biockmanc zones of Sn Lanka? 46. Fishing gear used in inland reservoirs of Sri Lanka are
= (1) Runfall (2) Ranfall and remperatuze (1) pole and line, gill nets and cast nets.
i/ £ Rmfnil temperarure and sunbght (2) seine nets, gl nets and purse seines.
; 52 hmfnll, iemperauT and parural vegeaanon ype (3) purse seines, gill nets and cast nets.
oo (3) Ranfall, eemperarure and alutude. (4) seine nets, mll ners and cast nets.

| . (3) pole and kine, gl nets and scine nets,
38 Which combmzoon of cyepiece 3 objecove  lens
orembansmon 15 the best to cleardy observe stomam of aleaf? 47
@) 5*10 )5 x 40 (3) 10 x 100
) 10 = 20 (3) 10 = 40

» Which of the following statements is correct regarding the
coconut leaf miner and coconut caterpillar?
(1) They are contralled by systemic insecncides
(2) They lay eggs on coconut leaves.
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larva and adult are hagmf,)

w bdﬂng to the Order ﬂl)lﬂup[
AR

Lra,

L J stions 48 and 49 are based the folloy
e chereria bancroti B) Plasmndsymy |

NE parasines,

: e
.
L e ETTCANNT ) Entam '
N i | & eelet Dictoh s
v Asaris lupbricordes e

of the above does not eny
irs life cycle?
2B

£ the human blood siyeam

above could be identfied by eXamining 4

: iich of the
' g of sample?

mc 2D
. @D&E (5) C.D &L

y 'ts ub?m?d for a particular subject in an exam
- gmormally distributed with a mean of 42 404

g A a standard
deviation of 13.If the total number of studens who sar

for this subject was 13000, the approximate

BHC&E

number of
o_@muwhu scored berween 29 and 68 is
(1) 6350 (2) 8830 (3) 9730
] _'1'36511 (57 12350

.ﬁ‘@; questions 51 o 60, one ar more of the responses
$/are correct. Decide which response or esponses s/ are
and then select the corresponding correct number

) the mble.
| @ o le | ) W
ACD AB CD Any other response or
TeC correct | correct| correct | combinanon of
S ‘ FespONSes Correct
| e :

et the correct symbolic base pairing of DNA
; _@Cz(; (0 A=G

i : m hof the following carbohydrates give/gives a positive
: etion with Fehling's test?

(B) Sucrose (C) Fructose

(E) Lactose

of the following requires/require ATP?
ysis in aerobic respiration.

is in photosynthesis. o
. transport system in acrobic respirauon.
ietbs cycle in aerobic respiration.

i

-Ul‘ monocotyledonous stems?
‘aet Well differentiared cortex and pith.
stular bundles arranged in several fings:
%5 cambium in vascular bundles.

} mtﬁf the fu!]awing is/ are not true :cgﬂ.td-'iﬂﬂ the

s

D) Peotaxylem in the vascular bundle may break down to
form gy cavity,

(k)W

Ascular bundles enclosed by o ring of sclerenchyma cells

55 W 7 i
5 Which of the tollowing is/are true about dicotyledonous
Stems after seeondary thickening?
(A Al tssues ouside the vascular cambiurn form the bark,

L 1. H .
(B} Vascular cambium forms a ting of several layers of
meristematie cells,

_— _
) Pith of the stem has disappeared.

D) Cells of medullary rays transport substances radially in

_——

the stem

(5] Sapwaod as well as heart wood, ransport water,

36, Which of the following structures in the human brain is/are

mportant n the control of movements involving skeletal
museless

(A} Basal ganglia
{C) Medully oblongata
(EYy Red nucler

(B} Cerebellum
(D) Corpus callosum

- Which of the following is/are correct regarding regulation
ot blood glucose level in man?
_IA) Fasting blood glicose level is 80-120 mg/ 100ml blood.
_B) Blood glacose level 15 regulated by negative feedback
mechanisms,
{C) Rise in blood glicose level inhibits insulin secretion.
(1} Glucagon snmulates conversion of glycogen to glucose.
(F) Distal convoluted wbule of nephron plays an imporant
role in glucose homoeostasis,

58. Which of the following 1s/are not considered as major
global environmental issues? '
() Increase in CO, coment in the atmosphere.
By Acd rin,
(€} Use of chenieal pesticides.,
JTH Ulse of inorganic ferriliser,
{1y Deplenon of ozone laver in the upper armosphere,

39, Pollunon of water bodies by sewage leads to
(A Increase of cvannbacteria.
F[:']?‘F Increase I primary producviy.
E{_Z}-Incn--.wt' in chemical oxygen demand.
(D} Reduction of dissolved oxygen content,
-E]-:i-lucrmst of primuary Consumers,

60, Paddy bug
(A) lays eggs on the leaves ot paddy plants,
(B) is mainly harmful to young paddy plants.
(C) can be controlled using trap crops.
(D) transmits viral discases.
(E} is harmful only during the nymph stage.



